

HOWE OF FIFE RFC

MEMBERSHIP PACK 2023 – 2024

All fixtures for senior players can be found on either https://www.howerugby.com/fixtures

Or

https://fixtures.scottishrugby.org/club/fixtures/341

Fixtures for youth and mini's can be found on their Facebook page

Membership Application 2023/2024

You will find included a membership application form with your membership number at the top right-hand side. (Y23/.....)

I ask that you complete the form and send it to me at the Clubhouse and/or email it to me. Please include your most up to date email address and mobile number as this is the easiest and most efficient way of the club keeping you updated with what is going on.

If possible, payment by BACS or Cheque would be preferred although cash is acceptable, but payment by card will only be possible in the clubhouse.

For those of you electing to pay by monthly standing order or BACS, we ask that you ensure that you give your name and the ref. number on the president's letter of your Membership. This allows parents of younger players/members to pay subscriptions on their behalf without confusion. Last year a number of payments were received that could not be attributed to an individual because the reference was not recognised, or an application form received.

If you need to contact me or have any queries about the provided information, please do not hesitate to email me. My address is howerfcmembership@hotmail.com

I look forward to seeing you all at our upcoming games and in and around the Clubhouse!

Many thanks,

Jan Thomson

Membership Secretary

HOWE OF FIFE RFC MEMBERSHIP 2023-2024

Membership Category	Annual Subscription	Monthly Standing Order
P1-5	£115	8 x £14.38
P6 – Students (Inc. U18)	£142	8 x £17.75
Family	£340	8 x £42.50
Adult Player	£175	8 x £21.88
Adult Non-Player	£135	8 x £16.88
Couple Non-Playing	£165	8 x £20.63
Adult player with non- playing partner	£200	8 x £25.00
Senior Citizen	£90.00	8 x £11.25
Unified	£15	n/a

Membership Payment Enclosed	£
Donation	£
Total Enclosed	£

Please circle chosen payment method below:

Cheque Cash BACS Monthly Standing Order

If paying by BACS or S.O, Membership Cards will only be issued on confirmed bank receipt.

Please send any payment to RBS Account: 00674138 Sort code: 83-17-23 with your membership reference number on the front of the letter.

Please list below the additional names of those to be included on this membership:

Name:	Child's age category e.g. P6
PLEASE PRINT (CAPITALS) YOUI	R INFORMATION BELOW
Name:	
Address	
Post Code	Membership Ref Y23/
Mobile No	
Email	
Membership Category Applied F	or
Signed	Date

Setting up a Standing Order

If you wish to pay by standing order, please complete the form below and send it to your bank.

Alternatively, if you have online banking then you can do this there.

·	our Membership ref as		hat we can correctly identify all p	payments.
Dear Madam/S Account No:	ir,			
STANDING OR Please create a	RDER a standing order payable to	Howe of Fife RFC		
Sort code Account n	83-17-23 umber 00674138			
of 8 Payme	ents of £	per month payable on the .	day of each month with imi	mediate
using the paym	ent reference			
Yours faithfully, Signed:	,	Date:		
Name:				
Address:				

Once completed, please send directly to your bank and <u>not</u> to the club or set up on your mobile device/PC.

Jan Thomson, Membership Secretary

HOWE OF FIFE RFC

Sponsorship Rates 2023/2024

V	Sponsorship Opportunities 2023/24 Season /AT SHOULD BE ADDED TO ALL COSTS		
Main Club			
Back of Jersey	Your brand will feature on back of jerseys	£	POA
Sleeve	Your brand will feature on side on one jersey sleeve	£	POA
Coaches Kit	Your brand will feature on all club coaches kit	£	POA
Player Sponsor	Your brand will feature with player on our website, programme, club photo board, Post match dinner, reduced price lunches, meet the players drinks.	£	340 (INCL VAT)
Programme & Pitch Boards			
Back Page		£	175
Full Page		£	120
Half Page		£	60
Pitch Side Board (Facing Stand) size 3050 x 750	Board supplied by club	£	550
Pitch Side Board (stand side)	Board supplied by club	£	450
Annual Board Renewal		£	300
Match Sponsorship	1 st XV home game. Feature in programme, social media	£	250
Match Ball for Season	Your brand will feature in programme & social media post for home game of choice	£	500
Match Ball for a Game	Present ball to captain and favourite player with social and media coverage	£	70
Howe Harlequins Jerseys	Your brand will feature prominently on the front of all jerseys	£	POA
Back of Jersey	Your brand will feature prominently on the back of all jerseys	£	POA
Sleeve	Your brand will feature on one jersey sleeve	£	POA
Shorts	Your brand will feature on one side of shorts	£	POA
Player Sponsorship	Your brand will feature with player on our website, programme and club photo board, Post match dinner, reduced price lunches, meet the players drinks.	£	POA

HOWE OF FIFE RFC

Sponsorship Rates 2023/2024

Sponsorship Opportunities 2023/24 Season Continued VAT SHOULD BE ADDED TO ALL COSTS				
Section	Event Sponsorship Packages – additional opportunities may occur during the season			
Howe 7s Sponsor	Full headline sponsor (Hospitality options available)	£	1500	
7s Shirt Sponsor	Headline sponsor for full 7s season	£	800	

Order Placement

Complete your details below & email to: howerfcmembership@hotmail.com

Name								
Company Position								
Company								
Address				Tel				
Chosen Packages						£		
						£		
						£		
Duration of commitment	1 / 2 / 3 years			Total	£			
Email Address				Date				
Authorised By	Signat		ure					
BACS PAYMENT DETAILS	Name: Howe of Fife RFC	Account No:006741				Sort Code: 831723		
Contact Chris Reekie	07803 140333							

Terms and conditions

Minimum 2-year commitment. Sponsorship contribution will be invoiced & payable upfront and on an annual basis in August. A 2-year commitment is required. Please note sponsorship opportunities are subject to availability. Packages can be tailored to your requirements. To secure your preferred package, please email this document to:

Further details regarding Howe Rugby Sponsorship Packages are available on our website, www.howerugby.com Thank you for supporting our Club.